10,000

5,000

700

2,000

2,000

4,000 25, 000 11,000 5, 000
500
I
5. ATV LRER
T, 3P0 T0J_ 1,300 s
o
STUR . -
I VR Y TRE WL TORT T TEH] [ [ L/\ﬂ'j—[
: _ _ _ _ _ _ _ - - - - : — :
GL L slgle 3 =g ] |ﬁ_\_|glmts,_,—' | T g/ GL
- - - oo —[ — - - - - — = = - - - - - - | - - - | -
=  —
S NP
4,000 25, 000 11,000 5, 000
o1 @_'J AL -
| ; g
[ ] = ~
3 7,000 2,000 — PTEMm
. L S — — : = . - _
5597 5597 KE. %R
M JYR y TEYE S
o
- 5
/ 3,300 600 1,300 60
m AS54y T LaAH ARV Y LAU KT A FEY] -
JVARYvT \ o . 1 o
=] PR ] e S
ok = >
\Eﬂ ﬁ A7—L [fa—2 . -
[ F—La—FrRRI X MAU YUV TL—%Y | |
700 s
Hm 4,000 2,000 S
o
SRuaas T [ [ i | |
N i - _
B 4 KR, 4 ) T!gl )
/YRy TEE —— TFEH S
2597 F9Y /| } } ©
= L RE—=7 | o~
) | , 5 NT— \ O | ‘|‘| T
[ S = — = _
| : i
i o
vrvs—— o= S
| ~
\ © xmom | ) l;
J 7J7’ - - -
SEMIOvoHE g C'T w B g
o~ o~

17,000

T—LaA—FARTHLAU  RUSTL—2Y |
I I

S=1/100 ABFEKKk T—ILEEI=E




